DIVISION WITH A REMAINDER (H - SET 4)

DIVISION WITH 10 Name:
Time: Score: A

6149 =10 = 16) 8447 + 10 =
2 7750 + 10 = 17 8457 + 10 =
3 8270 = 10 = 1) 7416 = 10 =
1y 219 + 10 = 19 6980 + 10 =
5 3179 = 10 = 200 3981 + 10 =
6 9797 — 10 = 21) 2455 + 10 =
N 1970 =10 = 22) 6067 = 10 =
5 6081 =+ 10 = 23 1087 =+ 10 =
9 5118 =10 = 2 8302 + 10 =
1) 299 = 10 = 25 6900 + 10 =
1) 6800 = 10 = 260 4087 = 10 =
1) 7823 = 10 = ) T8 +10 =
13 8057 + 10 = %) 6626 + 10 =
11 9029 = 10 = 29) 5637 + 10 =
15 3107 = 10 = 300 5063 + 10 =

Mathematics: Division - Level 7 - Horizontal - Set 4
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